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I. BEFFIRA I. BEFFIRA
1. AR2IRA 620,000[;x A8 E5% B 1. AR2IRA 620,000 0
3 -1LUN 17,850,000 3 -1LON 15,430,000 2,420,000
3. BEIRA 264,310,000 3. BEIRA 223,260,000, 41,050,000
NAFTRERMHESE 21,000,000|/ 5142 R E R EE NAFTRERMESE 21,000,000 0
NAFIRT—DEE 102,300,000/ 34 A< 27— & INARRY—UFEE 78,100,000 24,200,000
AHMBEREE 6,200,000 o ki 7 E/ 1A = AHMBEREE 4,850,000 1,350,000
RiffREE% 100,000|74/74—5 4 RiffAESEE 100,000 0
EREREE 2,150,000|/ 3 A=A % EREREE 2,350,000 A 200,000
ERERREE 0 ERRREE 0 0
EES 1,700,000| AIRT AT 2o &R eSS 200,000 1,500,000
HE-ZREE 130,860,000 B -ZREE 116,660,000 14,200,000
4. HIRA 3,000 4. HIRA 2,000 1,000
FETEIRAG (A) 282,783,000 FETFEFIRAG(A) 239,312,000 43,471,000

I. BEIEXE 0. B%EEH%H
1. EEEXH 73,410,000 1. EEEXH 38,510,000 34,900,000
"HEKRESE 6,000,000 "HEKRESE 6,000,000 0
BEMAAER 6,000,000 BEMATER 5,000,000 1,000,000
SR8 1,580,000 Et 1,080,000 500,000
wEH 4,300,000 WwEF 3,600,000 700,000
BISERE 2,130,000 BISERE 1,130,000 1,000,000
BAEEANE 1,500,000 BAEEAE 500,000 1,000,000
BEESE 3,000,000 wHEERE 1,000,000 2,000,000
ERIZE 1,000,000 FNRIZ 1,000,000 0
EHAEBHE 13,100,000| S5, £BE . KEHNE EEMEEHE 8,800,000 4,300,000
TR AR 30,000,000 :4#5:% FAF AR 6,000,000 24,000,000
EHmEEN 800,000 BHERBEN 800,000 0
HEHE 1,900,000 HEHE 1,700,000 200,000
ARRE L FELEER 1,600,000 AREHTERN 1,600,000 0
LHRE 400,000 LHE 200,000 200,000
HEE 100,000 HEZE 100,000 0
2. BRE 201,025,000 2. B%% 173,705,000 27,320,000
NAFIREREESXE 18,500,000(/ 31 A R ERHEEEE NAATRERABESEE 19,500,000 A 1,000,000
NAARRI—VE%E 38,600,000|/ 31+ < RY—V5EE NAFIAR—OEEE 28,000,000 10,600,000
AHEREEY 3,750,000 a7 K/ = AHEREEY 2,900,000 850,000
BiREEXE 360,000(75/7+—5 L BifiAEEXE 360,000 0
EREREEE 3,065,000 ,*\;;*g;;%‘% ERERERE 3,165,000 A 100,000
ERRREXE 150,000[@5 BIAZ A% ERXREEE 150,000, 0
HREEE 5,800,000 &%, v =17 1L% HREEE 2,830,000 2,970,000
- RRAEXE 130,800,000 - RREXE 116,800,000 14,000,000
BEFFHIHE (B) 274,435,000 BEFFHIHE (B) 212,215,000, 62,220,000
LR EE (C=A—B) 8,348,000 LR EE (C=A—B) 27,097,000 A 18,749,000
ATEAMRBINZ Z% (D) 110,000,000 AR MINT Z%E (D) 75,385,000 34,615,000
REZBINZ Z%E (E=C+D) 118,348,000 REZBINZ ZE%E (E=C+D) 102,482,000 15,866,000
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